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Cluster: 0080 ptr; resid: 0.29; r/c: 33/64
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upstream meme PSSM #1; e=3.9e−11
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44278−0.00
31434−0.01
11217−0.07
45563−0.08
46129−0.30
54087−0.32
42699−0.37
45973−0.88
45611−1.47
35196−1.51
42971−1.55
15797−1.71
45381−1.73
44900−1.77
11733−1.77
37130−1.93
45576−1.95
49281−2.02

9619−2.08
45312−2.09
45741−2.30

9342−2.31
37440−2.58
35678−2.85
42778−3.18
44745−3.34
41886−3.79

2164−5.28
45408−6.87
45799−7.65
42422−9.26
11235−11.17

log10(P) upstream meme1 2 log10(P.clust)=−2.63; 33 seqs; 33 uniq
c(0.5, 2.5)
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